M= X| 20| 87t =4

1002l AMEFZEA Ch 7% =22 14,000 | 14,000
{2l Orof 7HHo| 22|H Mo 15,000 15,000
= 7% x| et 12,000 | 12,000

O] Zot £7| 0|74 2| Otxe 2|7t3 14,000 | 14,000
aeg = =& gl 11,000 11,000

2E SO0F SHH g4 1 O|X|& 13,000 13,000
IS S0F HH g4 2 OlX|& 13,000 13,000
L0l KA HHE et 12,500 12,500
DA0| S AAL A 6 sUH 12,000 | 48,000
TE T2 =X el oj2f Mool M= 11,000 11,000

HL ofClof A= Ent SAEH MAZ| FLO{ LA 14,000 | 28,000
ELARSES Enpmg| 17,000 | 17,000

Ot R Nl 11,000 | 11,000

W Stz 32w x|t 13,000 13,000

W &L ors FARNR 15,000 15,000
25z =&l 0|24 QN OFO[ M| = 11,000 11,000
TEN &% FFS2| AgAtA 2| el 7} s 2l 13,000 | 13,000
CtoMe &8 Hal a0 16,800 | 16,800
H3E EE DO 1 ey 13,000 26,000
H3E EE IO 2 ey 13,000 26,000
TE2| Wa|7h AtetE =R 12,000 12,000
Y 2| A0k ¥53 16,800 16,800
HICH B0l S EW ol <2 0f 13,500 13,500
e oH EHEX gteet FIEHEZ 15,000 15,000
=8 27 x| et 10,000 | 10,000

te O|EH 25 We{dnp O Hel 17,000 | 17,000
ot Y IS 13,000 | 13,000
AR B2 F OfUf|Ef| Ty Al 16,800 | 16,800
7|5k SO =78 A 6 dEA 13,000 13,000
Of7| CHEtx 2toje| 7h2 b o[ of 17,000 17,000
Ob7| CHEtx 2toje| A& =0| oM 17,000 17,000
Ot7| CtEtel F2|A0tA EeeF 0= 14,000 14,000
otE TH 2 O|+#3] 13,000 26,000
MEES o I R LA 22 ZAIR 15,000 15,000
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OpAM 22 S|ZAl0r2o|R| ZHAZ 2 | 12,000 | 24,000

OpA 23 S|ZAl02o|R| ZHAZ 2 | 12,000 | 24,000

Ot 2t 4 S|ZAl0r2o|R| ZHAZ 2 | 12,000 | 24,000

&0f opA3 QM7| 0= Mol=a 1 10,500 10,500

A2t 0] 1 50| ¢ O|X|& 2 | 13,000 26,000

A2t Y0l 2 50| ¢ O|X|& 2 | 13,000 26,000

AlZt 0] 3 50| ¢ O|X|& 2 | 13,000 26,000

M7|SH AFE O|OFL|A| Et=OF|  O|2{O}0| 1 11,000 22,000

M718h LA THA OJOFLIA| EF=OF|  DOJ2foto] 1 | 12,000 | 24,000

ot glo] F& LIF A MHAER | AIZFLIO | 2 | 12,000 | 24,000
OtM| & Az ST o|gd HIE A 1 | 13,000 | 13,000
S o2 12| 1 =3 | 2 | 12,000 24,000
S o el 2 =3 | 2 | 12,000 24,000
S o 1zl 3 =3 | 2 | 12,000 24,000
ASEY 0l 12l 4 =3 | 3 | 13,000 39,000
oA L Lnt? SAE MUAA| FLAZGA | 2 | 13,000 | 26,000
O|REOoll= of 7+Z0| &7t? SCrd =GR | 2 | 10000 | 20,000
O|mj2tutLp R LIS x| AMAHE 2 | 15000 | 30,000
X|2oz 7t7| Mo g =Est2 A | 3 | 12,000 | 36,000
H2 T E CHRAA| a20[0F7| | 1 15,000 15,000

Hed s|ZAl0roj2| ZHAE 2 | 13,000 | 26,000

Xzl opA3 fM7| 0= Mol=a 2 9,000 18,000

Aol M4 O|X| 2 SUFLO |1 16,800 16,800
FLRoA =F2 7t2E 4 a0 FoHy of2{oto| 1 | 14,000 | 14,000
=2 o]h3|? FAREN 25020 1 14,000 14,000
HAE OtAT M| 0= Moled 1 | 11,000 | 11,000
HlE LR &0 Af 20| Setpt&LCH CINE 225t 3 | 12,000 | 36,000
=4 2H LEZ qfols CHAFOJZIOf | 1 13,000 13,000

OFE AP FE2 qfols CHAFOJZIOf | 1 13,000 13,000

o 2 FEfE qfols CHAFOJZIOf | 1 13,000 13,000
ST 4= FEHE qfols CHAFOJZIOf | 1 13,000 13,000

H Lto] @3F0F HML 22t | STEFLA | 1 | 13,000 | 13,000
LA EF2 = =2 1 14,000 14,000

g 2otz =5 ERLAXIA |1 18,000 18,000

O 20 " 20 5h7ke(oF Zotet uE Moled 1 | 12,000 | 12,000
Y=ol 0= Ho|z ERe! 1 12,000 12,000




FEX| ctatel Zpitct EIONES CE 15,000 | 15,000
= 08 2 A2 a29F SHE S AL 15,000 15,000
22 E7|9 4 aojs HIE A 12,000 12,000

SEOA TSt 2| Ottt 20| oxe 13,000 13,000
a4 FAR:EN ZH0{ 20| 13,000 13,000

Al ot A O|4=¢H Exh 12,000 12,000

Of & 2Lt oj¢u 22 15,000 15,000

oM M2l L 2 x4 S ES=T 13,000 | 13,000
HOLo| o| et 522 FAR:EN Mol=a 13,000 13,000
S1o[L| H5tol XS Moled 9,500 9,500

= W OrF2.. OreLt 2L 2| HEIo{ o] 16,000 16,000

o =O|CH delat =g 15,000 15,000
22| Etd e =g 14,000 14,000

=M Jg 2o Ho|z 7| = 12,000 12,000

FHO= MEZR FAR=n 2R 11,800 11,800
30| X|Lp7tn T OFFte| Ch= 14,000 14,000

717|282 15 XHEI|2 ol+=8& 2egn 12,500 | 12,500

BE =+ ol 22 FEstetel | FUOZEGA 14,800 14,800
ZOiE Ot St A M2 JZIoHE 15,000 15,000
25t 2R 78 =234 12,500 12,500

‘8 (DVD) TtA HEA |RUHET™HA 11,000 | 11,000

A H(DVD) AE|E2 AAF||S Ql0t7}0|E 26,900 26,900
welof & 21004 SHRILER 12,000 12,000

7HO| 2 A 0| A|ZhetE 1 LEA S 14,000 | 14,000
=2 E2AERA FARSE =5 d2AE 14,000 | 14,000
orgl b= A3} 1 HEs CiAFO1 210 15,000 15,000
orsl b= A3t 2 HE= CiAFO1 210 15,000 15,000
Otot ot= 43t 3 Sgsk=l CHetol 20| 15,000 15,000

Ol 2 EFAL 1 O 1=FAL 0|2 lOFOI M2 12,000 12,000
Of| 2EFAL 2 O 1=FA 0|2 lOFOI M2 12,000 12,000
Ol 2EFAE 3 O 1=FAL 0|2 lOFOI M2 12,000 12,000
o 2EkAL 4 O 18fA}  |Oj2fMOtO| M= 13,500 | 13,500
Of| 28FAL 5 o 18fA}  |Oj2fMOtO| M= 13,500 | 13,500
ol kAL 6 O 18fA}  |Oj2fMOtO| M= 13,500 | 13,500
ol kAL 7 O 18fA}  |Oj2f2MotO| M= 14,500 | 14,500
Ol 2EFAL 8 O 1=FAF 0|2 OO M2 14,500 14,500




ol kAL 9 O 18fA}  |Oj2f2MotO| M= 14,500 | 14,500

Ol 1EfAF 10 Of 18fA}  |Oj2fMOtO| M= 14,500 | 14,500

Of| ZLEfAF 11 O 18fA}  |Oj2f2MotO| M= 14,500 | 14,500

Ol 2=FARS] RE 7] 1 O 1=FA 0|2 lOFOI M2 12,000 12,000
Ol 2=FARS] ME 7] 2 O 1=FA 0|2 OO M2 13,500 13,500
Ol 2EFALS] AT 27| 3 Ol L8FAL  |Of2H OO M= 13,500 | 13,500

Ol 2=FARS] i 7] 4 O 1=FA 0|2 OO M2 13,500 13,500
HZeH HHE 13 B Of ot2= 13,000 | 13,000
HZeH UHE 14 B Of ot2= 13,000 | 13,000
HZeH HUHE 15 B Of ot2= 13,000 | 13,000
HZe Y HUHE 16 B Of ot2= 14,800 | 14,800
HZRY HHE 17 Hre ot & 14,800 14,800
gA afa| 1 O X AE 12,000 | 12,000

gfA ofde| 2 O X AE 12,000 | 12,000

gfA ofde| 3 O X AE 12,000 | 12,000

A Ije| 4 O] A X] AE 12,000 | 12,000
HOIMO| Sh A CHEH 1 Mol oto|{ ™ 13,000 | 13,000
HOIMO| St A CHEH 2 Mol oto|{ ™ 13,000 | 13,000
HOIMO| ShaA CHEH 3 Mol oto|{ ™ 13,000 | 13,000
HUMO| ot AL HEH 4 ik Ooto| =M 13,000 13,000
HUMO| ot A HEH 5 ik Ooto| = H 13,000 13,000
HUMO| AL 2 6 ik Ooto| = H 13,000 13,000
AUMO| ot ALEY 7 ik Ooto| = H 13,000 13,000
HOIMO| St A CHEH 8 Mol oto| g™ 13,000 | 13,000
HOIMO| St AL CHEH 9 Mol oto|{ ™ 13,000 | 13,000
HolMo| sh=m AL CHEHE 10 Moy oto| g™ 13,000 | 13,000
Moo St AL CHEH 11 Moy oto|{ ™ 13,000 | 13,000
AEMO| ot A TR 12 ik oto| = H 13,000 13,000
MO ot AL T2 13 ik oto| = H 13,000 13,000
AN ot AL 2 14 ik oto| = H 13,000 13,000
AN ot AL T2 15 ik Ooto| =M 13,000 13,000
HolMo| Sh=m AL CHEH 16 oA oto| g™ 13,000 | 13,000
HOlMo| Shm AL CHEHE 17 Moy oto|F ™ 13,000 | 13,000
HolMo| Sh=m AL CHEH 18 oA oto| g™ 13,000 | 13,000
MolMo| Sh=m AL CHEHE 19 oA oto|F ™ 13,000 | 13,000
AEMO| ot A THE R 20 ik oto| = H 13,000 13,000




MOIMo| St AL CHEH 21 Moy oto|{ ™ 13,000 | 13,000
HOlMo| Shm AL CHEH 22 Moy oto| g™ 13,000 | 13,000
HOIMo| sk AL CHE R 23 oA oto|{ ™ 13,000 | 13,000
AN ot AL 2 24 ik Ooto| = H 13,000 13,000
AN ot AL T2 25 Sk Ooto| = H 13,000 13,000
AEMO| ot AL THE R 26 Sk Ooto| = H 13,000 13,000
AN ot AL THE Y 27 Sk Ooto| = H 13,000 13,000
HOIMO| MAHA CHEH 1 Mol chE0tol 12,000 | 12,000
HOIMO| MAHA CHEH 2 Mol cHE0tol 12,000 | 12,000
HOIMO| MAACHEH 3 Mol CHE0tol 12,000 | 12,000
HOMO| MAA CHEH 4 Mol cHE0tol 12,000 | 12,000
AUMO| MAAHES 5 ik tH&0}0| 12,000 12,000
HUMO| MAAIHEH 6 ik CH&E0}0| 12,000 12,000
UM MAAIHEY 7 Sk CH&0}0| 12,000 12,000
UM MAAIEH 8 ik CH&E0}0| 12,000 12,000
HOIMO| MAHACHEH 9 Mol cHE0tol 12,000 | 12,000
HOIMO| MAAL CHEHE 10 oA cHE0tol 12,000 | 12,000
Mool MAHA CHEE 11 oA cHE0tol 12,000 | 12,000
HOMO| MAAL CHEHE 12 oA cHE0tol 12,000 | 12,000
M| MAALHEH 13 ik CH&E0}0| 13,000 13,000
M| MAA R 14 ik CH&E0}0| 13,000 13,000
M| MAALHEH 15 ik CH&E0}0| 13,000 13,000
M| MAATHER 16 ik CH&E0}0| 13,000 13,000
HOIMO| MAAL CHEHE 17 oA chE0tol 13,000 | 13,000
HOIMO| MAA CHEH 18 oA chE0tol 13,000 | 13,000

KHAFEO| X|CH & QF 1 AL =LE 14,000 | 14,000

KAFE S| X|CHE R 2 AL =LE 14,000 | 14,000

AZ L] XT3 AL sHE 15,000 15,000

HALE S| XITH & 4 AL sHE 15,000 15,000

AZ L] XICHE & 5 AL sHE 15,000 15,000

HALE L XITHE R 6 AL sHE 15,000 15,000

KAFE S| X|CHE R 7 AL =LE 15,000 | 15,000

KAFE S| X|CHE R 8 ) =LE 15,000 | 15,000




